

ON THE AVERAGE OF THE SUM-OF- a -DIVISORS FUNCTION

BY

SHI-CHAO CHEN and YONG-GAO CHEN (Nanjing)

Abstract. We prove an Ω result on the average of the sum of the divisors of n which are relatively coprime to any given integer a . This generalizes the earlier result for a prime proved by Adhikari, Coppola and Mukhopadhyay.

1. Introduction. The estimate of the error term in the average of the sum-of-divisors function has attracted attention of many people (see Walfisz [7], Pétermann [5], [6]). Recently, Adhikari, Coppola and Mukhopadhyay [1] proved that

$$\sum_{n \leq x} D_p(n) - \frac{\pi^2 x^2}{12} \left(1 - \frac{1}{p}\right) = \Omega_{\pm}(x \log \log x),$$

where $D_p(n)$ is defined to be the sum of the divisors of n which are relatively coprime to a prime p , that is,

$$D_p(n) = \sum_{\substack{d|n \\ (d,p)=1}} d.$$

Their main ideas come from Erdős and Shapiro [2] and Pétermann [4].

In this paper, we generalize the results of [1] to the general case. We define $D_a(n)$ to be the sum of the divisors of n which are relatively coprime to an integer a , that is,

$$D_a(n) = \sum_{\substack{d|n \\ (d,a)=1}} d.$$

We prove the following theorem.

2000 *Mathematics Subject Classification*: 11N60, 11A25.

Supported by the National Natural Science Foundation of China, Grant No10171046 and the Teaching and Research Award Program for Outstanding Young Teachers at Nanjing Normal University.

THEOREM. For any integer $a > 1$, we have

$$\sum_{n \leq x} D_a(n) - \frac{\pi^2 x^2 \phi(a)}{12a} = \Omega_{\pm}(x \log \log x),$$

where $\phi(n)$ is Euler's function.

2. Lemmas. We will use p, q to denote primes. Let $a > 1$ be an integer with standard factorization $a = p_1^{\beta_1} p_2^{\beta_2} \cdots p_s^{\beta_s}$, where $\beta_i > 0$ ($1 \leq i \leq s$). It is convenient to define

$$(1) \quad E_a(x) := \sum_{n \leq x} D_a(n) - \frac{\pi^2 x^2 \phi(a)}{12a},$$

$$(2) \quad F_a(x) := \sum_{n \leq x} \frac{D_a(n)}{n} - \frac{\pi^2 x \phi(a)}{6a}.$$

LEMMA 1. For each natural number n we have

$$\frac{D_a(n)}{n} = \sum_{d|n} \frac{1}{d} \prod_{p|(a,d)} (1-p).$$

Proof. Since both sides are multiplicative functions of n , it suffices to check the equality for $n = q^b$, where q is a prime and b is a nonnegative integer. In fact, for $n = q^b$, if $q|a$, then both sides are $1/q^b$; if $q \nmid a$, then both sides are $(1 + q + \cdots + q^b)/q^b$.

LEMMA 2.

$$\sum_{n \leq x} \frac{1}{n} \prod_{p|(a,n)} (1-p) = \begin{cases} \log p_1 + O(1/x) & \text{if } s = 1, \\ O(1/x) & \text{if } s > 1. \end{cases}$$

Proof. Since

$$\sum_{n \leq y} \frac{1}{n} = \log y + \gamma + O(1/y),$$

we have

$$\begin{aligned} \sum_{n \leq x} \frac{1}{n} \prod_{p|(a,n)} (1-p) &= \sum_{n \leq x} \frac{1}{n} \sum_{d|(a,n)} \mu(d) d = \sum_{d|a} \mu(d) \sum_{n \leq x, d|n} \frac{d}{n} \\ &= \sum_{d|a} \mu(d) \sum_{n \leq x/d} \frac{1}{n} = \sum_{d|a} \mu(d) \left(\log \frac{x}{d} + \gamma + O(d/x) \right) \\ &= (\log x + \gamma) \sum_{d|a} \mu(d) - \sum_{d|a} \mu(d) \log d + O(1/x) \end{aligned}$$

$$\begin{aligned}
 &= (\log x + \gamma) \sum_{d|p_1 \cdots p_s} \mu(d) + \sum_{i=1}^s \log p_i \sum_{d|(p_1 \cdots p_s/p_i)} \mu(d) + O(1/x) \\
 &= \begin{cases} \log p_1 + O(1/x) & \text{if } s = 1, \\ O(1/x) & \text{if } s > 1. \end{cases}
 \end{aligned}$$

LEMMA 3.

$$F_a(x) = - \sum_{k=1}^{\infty} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p).$$

Proof. Since

$$\begin{aligned}
 (3) \quad \sum_{k=1}^{\infty} \frac{1}{k^2} \prod_{p|(a,k)} (1-p) &= \prod_q \left(\sum_{i=0}^{\infty} \frac{1}{q^{2i}} \prod_{p|(a,q^i)} (1-p) \right) \\
 &= \prod_{q|a} \left(1 + \sum_{i=1}^{\infty} \frac{1-q}{q^{2i}} \right) \cdot \prod_{q|a} \sum_{i=0}^{\infty} \frac{1}{q^{2i}} \\
 &= \prod_{q|a} \left(1 - \frac{1}{q} \right) \cdot \prod_q \left(1 - \frac{1}{q^2} \right)^{-1} = \frac{\pi^2 \phi(a)}{6a},
 \end{aligned}$$

by (2) and Lemma 1 we have

$$\begin{aligned}
 F_a(x) &= \sum_{n \leq x} \sum_{k|n} \frac{1}{k} \prod_{p|(a,k)} (1-p) - x \sum_{k=1}^{\infty} \frac{1}{k^2} \prod_{p|(a,k)} (1-p) \\
 &= \sum_{k=1}^{\infty} \frac{1}{k} \left[\frac{x}{k} \right] \prod_{p|(a,k)} (1-p) - x \sum_{k=1}^{\infty} \frac{1}{k^2} \prod_{p|(a,k)} (1-p) \\
 &= - \sum_{k=1}^{\infty} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p).
 \end{aligned}$$

LEMMA 4.

$$F_a(x) = - \sum_{k \leq y} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) + O(1)$$

uniformly for $x \geq 2$, $y \geq \frac{1}{2} \sqrt{x}$.

Proof. By Lemma 3 we only need to prove that

$$\sum_{k > y} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O(1).$$

If $y \geq \frac{1}{2}x$, then

$$\sum_{k>y} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) \ll \sum_{k>y} \frac{x}{k^2} \ll \frac{x}{y} \ll 1.$$

Now we assume that $\frac{1}{2}\sqrt{x} \leq y < \frac{1}{2}x$. Since

$$\sum_{k>x} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O(1),$$

it suffices to prove that

$$\sum_{y < k \leq x} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O(1).$$

Let M be an integer with $M \leq x/y < M+1$. Then, for each integer t with $2 \leq t \leq M+1$, $\{x/k\}$ is monotone in the range $x/t < k \leq x/(t-1)$. Hence, by Lemma 2 and partial summation, we have

$$\sum_{x/t < k \leq x/(t-1)} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O(t/x)$$

and

$$\sum_{y < k \leq x/M} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O(M/x).$$

Hence, because $y \geq \frac{1}{2}\sqrt{x}$, we have

$$\sum_{y < k \leq x} \frac{1}{k} \left\{ \frac{x}{k} \right\} \prod_{p|(a,k)} (1-p) = O\left(\frac{1}{x} \sum_{1 \leq t \leq x/y} t\right) = O\left(\frac{1}{x} \cdot \frac{x^2}{y^2}\right) = O(1).$$

LEMMA 5.

$$\frac{E_a(x)}{x} - F_a(x) = O(1).$$

Proof. By (1) we have

$$(4) \quad \frac{E_a(x)}{x} = \frac{1}{x} \sum_{n \leq x} D_a(n) - \frac{\pi^2 x \phi(a)}{12a}.$$

By Lemmas 1, 2 and 4, we have

$$(5) \quad \sum_{n \leq x} D_a(n) = \sum_{n \leq x} n \sum_{d|n} \frac{1}{d} \prod_{p|(a,d)} (1-p) = \sum_{d \leq x} \prod_{p|(a,d)} (1-p) \sum_{n \leq x/d} n$$

$$\begin{aligned}
&= \sum_{d \leq x} \left(\frac{1}{2} \left[\frac{x}{d} \right]^2 + \frac{1}{2} \left[\frac{x}{d} \right] \right) \prod_{p|(a,d)} (1-p) \\
&= \sum_{d \leq x} \left(\frac{x^2}{2d^2} + \frac{x}{2d} - \frac{x}{d} \left\{ \frac{x}{d} \right\} \right) \prod_{p|(a,d)} (1-p) + O(x) \\
&= \frac{1}{2} x^2 \sum_{d \leq x} \frac{1}{d^2} \prod_{p|(a,d)} (1-p) - x \sum_{d \leq x} \frac{1}{d} \left\{ \frac{x}{d} \right\} \prod_{p|(a,d)} (1-p) + O(x) \\
&= \frac{1}{2} x^2 \sum_{d \leq x} \frac{1}{d^2} \prod_{p|(a,d)} (1-p) + x F_a(x) + O(x).
\end{aligned}$$

By (3)–(5), we finally obtain

$$\begin{aligned}
\frac{E_a(x)}{x} - F_a(x) &= -\frac{1}{2} x \sum_{d > x} \frac{1}{d^2} \prod_{p|(a,d)} (1-p) + O(1) \\
&= O\left(x \sum_{d > x} \frac{1}{d^2}\right) + O(1) = O(1).
\end{aligned}$$

LEMMA 6 (Montgomery [3]). *If b, r are positive integers such that $(b, r) = 1$ and β is a real number, then for any positive integer N , we have*

$$\sum_{n=1}^N \left\{ \frac{nb}{r} + \beta \right\} = \frac{N}{r} \{r\beta\} + \frac{N}{r} \left(\frac{r-1}{2} \right) + O(r).$$

LEMMA 7. *Let $A = m!/(p_1^{e_1} \cdots p_s^{e_s})$ be an integer with $(A, a) = 1$ and $A \geq ma$. Then*

$$\sum_{k \leq A} \frac{(k, A)}{k^2} \prod_{p|(a,k)} (1-p) \geq \frac{\phi(a)}{a} \log m + O(1).$$

Proof. We have

$$\begin{aligned}
\sum_{k \leq A} \frac{(k, A)}{k^2} \prod_{p|(a,k)} (1-p) &= \sum_{k \leq A} \frac{(k, A)}{k^2} \sum_{d|a, d|k} \mu(d) d \\
&= \sum_{d|a} \mu(d) d \sum_{k \leq A, d|k} \frac{(k, A)}{k^2} = \sum_{d|a} \mu(d) \frac{1}{d} \sum_{k \leq A/d} \frac{(k, A)}{k^2} \\
&= \sum_{d|a} \frac{\mu(d)}{d} \sum_{k \leq A/a} \frac{(k, A)}{k^2} + \sum_{d|a} \frac{\mu(d)}{d} \sum_{A/a < k \leq A/d} \frac{(k, A)}{k^2} \\
&= \frac{\phi(a)}{a} \sum_{k \leq A/a} \frac{(k, A)}{k^2} + \sum_{d|a} \mu(d) \frac{1}{d} \sum_{A/a < k \leq A/d} \frac{(k, A)}{k^2}.
\end{aligned}$$

Since

$$\begin{aligned}
 \sum_{k \leq A/a} \frac{(k, A)}{k^2} &\geq \sum_{k \leq m, (k, a)=1} \frac{(k, A)}{k^2} = \sum_{k \leq m, (k, a)=1} \frac{1}{k} \\
 &= \sum_{k \leq m} \frac{1}{k} \sum_{d|k, d|a} \mu(d) = \sum_{d|a} \mu(d) \sum_{k \leq m, d|k} \frac{1}{k} \\
 &= \sum_{d|a} \frac{\mu(d)}{d} \sum_{k \leq m/d} \frac{1}{k} = \sum_{d|a} \frac{\mu(d)}{d} \left(\log \frac{m}{d} + O(1) \right) \\
 &= \frac{\phi(a)}{a} \log m + O(1)
 \end{aligned}$$

and

$$\sum_{d|a} \mu(d) \frac{1}{d} \sum_{A/a < k \leq A/d} \frac{(k, A)}{k^2} \ll \sum_{A/a < k \leq A} \frac{(k, A)}{k^2} \ll \sum_{A/a < k \leq A} \frac{1}{k} \ll 1,$$

we obtain the assertion.

3. Proof of the Theorem. Let A be as in Lemma 7 and let B be an integer with $0 \leq B < A$. By Lemmas 4, 6 and 2 we have

$$\begin{aligned}
 \frac{1}{A} \sum_{n=1}^A F_a(nA + B) &= -\frac{1}{A} \sum_{n=1}^A \sum_{k \leq A} \frac{1}{k} \left\{ \frac{nA + B}{k} \right\} \prod_{p|(a, k)} (1 - p) + O(1) \\
 &= -\frac{1}{A} \sum_{k \leq A} \frac{1}{k} \left(\prod_{p|(a, k)} (1 - p) \right) \sum_{n=1}^A \left\{ \frac{nA + B}{k} \right\} + O(1) \\
 &= -\sum_{k \leq A} \frac{(k, A)}{k^2} \left(\prod_{p|(a, k)} (1 - p) \right) \left(\left\{ \frac{B}{(k, A)} \right\} + \frac{k}{2(k, A)} - \frac{1}{2} \right) + O(1) \\
 &= -\sum_{k \leq A} \frac{(k, A)}{k^2} \left(\prod_{p|(a, k)} (1 - p) \right) \left(\left\{ \frac{B}{(k, A)} \right\} - \frac{1}{2} \right) + O(1).
 \end{aligned}$$

Hence

$$(6) \quad \frac{1}{A} \sum_{n=1}^A F_a(nA) = \frac{1}{2} \sum_{k \leq A} \frac{(k, A)}{k^2} \prod_{p|(a, k)} (1 - p) + O(1)$$

and

$$\begin{aligned}
 (7) \quad \frac{1}{A} \sum_{n=1}^A F_a(nA + A - 1) \\
 = -\sum_{k \leq A} \frac{(k, A)}{k^2} \left(\prod_{p|(a, k)} (1 - p) \right) \left(\frac{1}{2} - \frac{1}{(k, A)} \right) + O(1)
 \end{aligned}$$

$$= -\frac{1}{2} \sum_{k \leq A} \frac{(k, A)}{k^2} \prod_{p|(a, k)} (1 - p) + O(1).$$

Noting that

$$\log \log(A^2 + B) \ll \log \log A \ll \log(m \log m) \ll \log m,$$

by (6), (7) and Lemma 7 we obtain $F_a(x) = \Omega_{\pm}(\log \log x)$. By Lemma 5 we conclude that $E_a(x) = \Omega_{\pm}(x \log \log x)$. This completes the proof.

REFERENCES

- [1] S. D. Adhikari, G. Coppola and A. Mukhopadhyay, *On the average of the sum-of- p -prime-divisors function*, Acta Arith. 101 (2002), 333–338.
- [2] P. Erdős and H. N. Shapiro, *On the changes of sign of a certain error function*, Canad. J. Math. 3 (1951), 375–385.
- [3] H. L. Montgomery, *Fluctuations in the mean of Euler's phi function*, Proc. Indian Acad. Sci. (Math. Sci.) 97 (1987), 239–245.
- [4] Y. F. S. Pétermann, *About a theorem of Paolo Codecà's and Ω -estimates for arithmetical convolutions*, J. Number Theory 30 (1988), 71–85.
- [5] —, *An Ω -theorem for an error term related to the sum-of-divisors function*, Monatsh. Math. 103 (1987), 145–157.
- [6] —, *An Ω -theorem for an error term related to the sum-of-divisors function: Addendum*, *ibid.* 105 (1988), 193–194.
- [7] A. Walfisz, *Weylsche Exponentialsummen in der neueren Zahlentheorie*, Deutscher Verlag der Wiss., Berlin, 1963.

Department of Mathematics
 Nanjing Normal University
 Nanjing 210097, Jiangsu, China
 E-mail: ygchen@pine.njnu.edu.cn

Received 8 March 2004

(4436)